Trouble in Mind by Lightnin’ Hopkins
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* slide into both notes, but pick only A note after slide.
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mind I'm blue___ but | won't be blue al-ways____
2. See additional lyrics.
3 3 3 3 3 3

, i P Ja—~d ) S P o S

L% 0 il & —y 1
O] e = e i — — — — — — i —ﬁ—F -
- B e — SEL e — N — pr—— .'
EFE FEFEF rErr_'r' e LLC LT
] S 5
e F&r""'_"""“n " 2
- 4—4—4—4—4—4—4—4—4—4-4~2 0 -.—4~4~4‘?; —4 2—0 3~2~0»-:—3—3—~2—ﬁ7
e 2 2 e
] e & 4
- 2 0—0—0—0-0—0—0—10
Bz A
- 1 2 ||
% K  —— ! _ - 5 t = — e— 1
Ll 1 L 1 1 1 o a8 a8 1 1 | 1
- s P — =
¥ v AvTE— e e
You know the -sun____ gon-na shine in my back door__ some day
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